stress test

2.

3.

6x%y — 8xy?  6xy — 9y>
2zy 3y

® 3z —2y @ xz—y

@ 2x — 3y ® z+5y

Wwio] 7129] Zol7} 24 9 A7
202 & W, A=) Aol

D a®>—-a

@ 242 —ab

g Wolrk da? -

4a’-2a’b

@ 2d®+a

® 2a% + ab

® 2a>-b

5.

ofgtoly] 7452 thg 1y o] g Mo] Fol7} am
A AR o] =2 7F= o] ol= ym(z > y) =°I
A, Al2e] oz ym A4 Az 2HS HEr2
sholck. o] ol
_--rm---<_ Lym
/
!
1
,l
zm
s
' A
\\ ym
\ ,"

D (z+y)? =2+ 22y + y*(m?)
@ (z—y)? =2® - 2y +y*(m?)
® (z+y)(z—y) =2? —y*(m?)
@ (z+y)(z—y) =2 +y*(m?)

® (z+y)(r+y) =22+ y*(m?)

AL

r

Os 5 &< AT A

Mo

@ 2a? x 5a® = 10a®

© (222)3 = 625

© 2% x 25 + 210 = ()3
@2+ +2=0 ’

@ (—2zy)* + 422y = 42?y?

®© 0,0 ® 0,© ® 0,e

® © 0 ® e, e




6. o35 34 &2 A2? 10. o3 5 &2 A2?
1
@ 3°+3t=3 @ 222t =2 O (-1)*x (=)= (-1)®
® 32:32=0 @ 2x2x2=2° @ 32 x33=3°
® ata+ta=3a ® (-2) x (=2)* = (-2)

7. —a(y+3x) -y +1)—2a? —ay—4) S 0] &
o, zy ©] Al5ek 22 o] A50] Frog uke 7129

-6 @4 -2 @2 ® 3

8. (x—l-l)Z:xQ—ax—&—l o W), AF g 9] ZHe9 ® (2a*)* =164
3 9 a2\? g4
@ (-5) =5
© 1 @) 1 © _4 3y? 27y
9 3 9 O\ =
5 2
@ —— ® -
9 3

12. 4= a,b o tiste] 3z — 5y — {y —2(22 + 3y)} =
9. z=a+b, y=3a—2v4 |, 2z — awtby S, a+h AL oA,

Aoz e Aos 99e A7

mlm
)
=
<
2
e

® 5a—-0b @ —a+4b ® 4a—-1>

@ a—5b ® Ta—4b

13. (az—2)(7z+b) & HNT A°] ca? + 102z — 16 & o,
A4 a,b,c o ot a+ b+ ¢ 9] g2 Fstoiet.




14. 50 -2y = ~do+y -3 L W, 52 -2y +5 & z °|
et Ao & vrehjoiat,

15.

@ 922 + 62y + y?(m?)
@ 922 — 62y + y*(m?)
® 622 — y*(m?)
@ 922 — y*(m?)

® 92% 4 y*(m?)

@ 622+5x—6
® 922 - 122 +4

® 422 —52+6

@ 42% +122+9

@ 62> —-5x+6

18. 1 x2x3x4x5x6xT7Tx8x9x10=2%x30x
5¢x 14 W, a+b—c—do & Fotedet

o7 HHE ZE M2 w7

19. 9= %

it

® 2a(3z +2) = 6ax + 2a

@ (2ab+ 3b) + g = 4a + 6b*

® (822 —12x) + (—4z) = -2 + 3

@ 2x(3x —1) —3z(4 — x) = 922 — 10z

® 3x(—x+ 2y —4) = 322 + 62y — 122

2y —2 —4y 2z -5y —
20. z+2y Jr3:17 y 2z -5y 3:A9:+By+C’
2 3 4
g g o, A+ B+C 9 32?
5 1
@ 20 @ 3 ® —¢
@ —20 ® 12




21.

22.

23.

24. —4a— {3a+5b—2(a—2b— )} =—a—11b

(42 — ) (3x+ ) o AAONA & o] Ao} A

Fol Mz e, 5 a o F2?

—
[\]

1 1
@ - @ = ® 3
@

1
2

B 9r B o5 o ), 64" x 6257 ©] Ael
9ot B

o] 5 5hH?

@ 1072 @ 1278 ® 172
@ 2022 ® 26 2}

A (21, 1) 5 (@2, y2) O HSHA (21, y1) x
atrt,

I

Ol

(22, y2) = 2122 + T1Y2 + 11 %2 + Y12 = B
ol o, (2z, y) x (—y, 3x)E 5] o}AH?

® —62% + 22y — 32 @ —62% 4 xy + 3y?
® 222 —zy —y? @ 622 + zy — 2

® 622 — zy + 3y

Ao, [ otel gure A2

@ —-3b—-2a @ —b—4a ® b—2a

@ 2a+3b ® 3a+3b

P =

25. o=

Aol A p o] ghe 7

a

TotoEt (T, a # b #c)

b

C

(a—"b)(a—c)

.

)b a)

HCEDICED)




